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



sempre pp (possibile)***:1ma volta ; sempre ff : 2da volta ; sempre non legato

teneramente — con fuoco*
lentissimo e acc. poco a poco al prestissimo: 1ma volta ; presto (h = ca 100): 2da volta
(e = 10)**

(e = 19)

(e = 29)

(e = 39)

(e = 50)



* There is no need for an espressivo playing style! The range of characters appears with the correct execution of tempo and loudness.
** Metronome indications in brackets are a guideline for the acceleration of the 'prima volta', which should be most continuous and 
inconspicuous! The acceleration rate may increase throughout.
*** A true pp will not be feasible when the tempo gets high.
**** Accidentals hold for one note only, though some courtesy natural symbols are present.



ward de jonghe

passacaglia
etude for piano solo

Herrn dr Bert gewidmet



****

P sin' al fine ; una corda: 1ma volta ; tutte le corde: 2da volta
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





 






 










 















 


 


 

 
  

















  

 








 






















 





     














* Do not renew P  when proceeding to the '2da volta'!
** Approximate total duration: 14'.
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